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 Συνάρτηση  Παράγωγος    Σύνθετη Συνάρτηση  Παράγωγος 
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 2  𝒇(𝒙) = 𝒙  𝒇′(𝒙) = 𝒙′ = 𝟏 
  

  

 3  𝒇(𝒙) = 𝒙𝒂  𝒇′(𝒙) = 𝒂𝒙𝒂−𝟏 
  

 𝒇(𝒙) = 𝒈𝝂(𝒙)  𝒇′(𝒙) = 𝝂 ⋅ 𝒈𝝂−𝟏(𝒙) ⋅ 𝒈′(𝒙) 

 4  𝒇(𝒙) =
𝟏

𝒙
 𝒇′(𝒙) = −

𝟏

𝒙𝟐
 

  
 𝒇(𝒙) =

𝟏

𝒈(𝒙)
  𝒇′(𝒙) = −

𝒈′(𝒙)

𝒈𝟐(𝒙)
 

 5  𝒇(𝒙) = √𝒙 
 𝒇′(𝒙) =

𝟏

𝟐ξ𝒙
   

 𝒇(𝒙) = √𝒈(𝒙)  𝒇′(𝒙) =
𝒈′(𝒙)

𝟐ට𝒈(𝒙)
 

 6  𝒇(𝒙) = 𝜼𝝁𝒙  𝒇′(𝒙) = 𝝈𝝊𝝂𝒙 
  

 𝒇(𝒙) = 𝜼𝝁𝒈(𝒙)  𝒇′(𝒙) = 𝝈𝝊𝝂𝒈(𝒙) ⋅ 𝒈′(𝒙) 

 7  𝒇(𝒙)=𝝈𝝊𝝂𝒙  𝒇′(𝒙) = −𝜼𝝁𝒙 
  

 𝒇(𝒙) = 𝝈𝝊𝝂𝒈(𝒙)  𝒇′(𝒙) = −𝜼𝝁𝒈(𝒙) ⋅ 𝒈′(𝒙) 

 8  𝒇(𝒙) = 𝜺𝝓𝒙  𝒇′(𝒙) =
𝟏

𝝈𝝊𝝂𝟐𝒙
 

  
 𝒇(𝒙) = 𝜺𝝓𝒈(𝒙)  𝒇′(𝒙) =

𝒈′(𝒙)

𝝈𝝊𝝂𝟐𝒈(𝒙)
 

 9  𝒇(𝒙)=𝝈𝝓𝒙  𝒇′(𝒙) = −
𝟏

𝜼𝝁𝟐𝒙
 

  
 𝒇(𝒙) = 𝝈𝝓𝒈(𝒙)  𝒇′(𝒙) = −

𝒈′(𝒙)

𝜼𝝁𝟐𝒈(𝒙)
 

 10  𝒇(𝒙) = 𝒆𝒙  𝒇′(𝒙) = 𝒆𝒙 
  

 𝒇(𝒙) = 𝒆𝒈(𝒙)  𝒇′(𝒙) = 𝒆𝒈(𝒙) ⋅ 𝒈′(𝒙) 

 11  𝒇(𝒙) = 𝒂𝒙  𝒇′(𝒙) = 𝒂𝒙 𝒍𝒏𝒂 
  

    

 12  𝒇(𝒙) = 𝒍𝒏|𝒙|  𝒇′(𝒙) =
𝟏

𝒙
 

  
 𝒇(𝒙) = 𝒍𝒏𝒈 (𝒙)  𝒇′(𝒙) =

𝒈′(𝒙)

𝒈(𝒙)
 

Κανόνες παραγώγισης 

 Άθροισμα    [𝒇(𝒙) + 𝒈(𝒙)]′ = 𝒇′(𝒙) + 𝒈′(𝒙) και [𝒇(𝒙) − 𝒈(𝒙)]′ = 𝒇′(𝒙) − 𝒈′(𝒙) 

 Γινόμενα 

   [𝒄 ⋅ 𝒇(𝒙)]′ = 𝒄 ⋅ 𝒇′(𝒙) 

 [𝒇(𝒙) ⋅ 𝒈(𝒙)]′ = 𝒇′(𝒙) ⋅ 𝒈(𝒙) + 𝒇(𝒙) ⋅ 𝒈′(𝒙) 

 [𝒇(𝒙) ⋅ 𝒈(𝒙) ⋅ 𝒉(𝒙)]′ = 𝒇′(𝒙)𝒈(𝒙)𝒉(𝒙) + 𝒇(𝒙)𝒈′(𝒙)𝒉(𝒙) + 𝒇(𝒙)𝒈(𝒙)𝒉′(𝒙) 

 Πηλίκο 
  

 [
𝒇(𝒙)

𝒈(𝒙)
]
′
=

𝒇′(𝒙)⋅𝒈(𝒙)−𝒇(𝒙)⋅𝒈′(𝒙)

𝒈𝟐(𝒙)
 και [

𝟏

𝒈(𝒙)
]
′
=

−𝒈′(𝒙)

𝒈𝟐(𝒙)
 

 Σύνθετη    [(𝒈 ∘ 𝒇)(𝒙)]′ = 𝒈′(𝒇(𝒙)) ⋅ 𝒇′(𝒙) 

 


